( What am I? )

Add and use the letters to find the answer to the riddle

99—81=QE;
39 - 11 = |F ?
58 —20= |1 | 43 -30=( JU
26 — 12= JR = 58 —42=[ ]S
46 - 23= |N = 75-50= |G
59 - 13=( |P 38 -21=[ O
37 - 22=( |Y | 89 - 40=[ ]V

When things go wrong, what can you always count on ?

15 17 13 14 28 38 23 25 18 14 16
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( What am I? )

Add and use the letters to find the answer to the riddle

99 — 81 =[18]E |
39 — 11 =(28] F :

58 — 20=(38)1 | 43 - 30=(13]U
26 — 12=(14]JR = 58 — 42 =[16]S
46—23=N§75—50=G
59 — 13 =(46] P 38 — 21 =(17]0
37 — 22 =(15]Y | 89 — 40 =(49]V

When things go wrong, what can you always count on ?

15 17 13 14 28 38 23 25 18 14 16
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